Use a calculator to approximate to three decimal places.
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You were given specific rounding instructions on this one  
For the given function, fidn the indicated function values.

24.  t(x) = - 
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 does not make sense.  Does not exist; it does make sense.  The square root of a negative number is defined in the set of imaginary numbers
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Graph.
42. f(x) = 
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you must provide seven points in a table
Rewrite with positive exponents, and simplify, if possible.
28.  
[image: image9.wmf]6

/

5

)

5

(

1

6

/

5

)

5

(

xy

xy

=

-
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